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1. Find total number of electrons in p-orbitals of vanadium (Z = 23)
Ans. (12)

Sol. =23V = 15?2s22p%3523p? 3d%4s?

2. Identify the correct sequence of hybridization of following species
NHY, NOP, SF, . IFs
(1) sp3, sp, spd, spd? (2) sp, sp?, sp?, spd
(3) sp?, sp, sp3d, spd (4) sp3, sp?, sp3d, sp3d?
Ans. (1)
H
I D
Sol.  NH® o sp?
. 4 /fl\\ P
H H
H
@®
NOP 0=N=0 sp
F
-
SF4 sp3d
—
F

| F5 | l sp EdE

3. |dentify the incarrect statement regarding Mendeleeyv.
(1) He 1s the writer of chemistry book. 1.2 _, ‘principles of chemistry’'
(2) Mendeleev proposed the periodic table when strucuture of atoms were unknown

(3) Atomic number 101 element named after Mendeleev
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3. |dentify the incorrect statement regarding Mendeleev.

(1) He 1s the wniter of chemistry book. 1.2, ‘principles of chemistry’
(2) Mendeleev proposed the periodic table when strucuture of atoms were unknown
(3) Atomic number 101 element named after Mendeleev
(4) Mendeleev developed accurate barometer,
Ans. (2]
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4. Identify the correct set which is paramagnetic and coloured.
(1) Cu2*, Sc*, Cr3* (2) Mn™*, Cr3*, Hg?*
(3) Cu* , S¢*>* , Co* (4) Mn™, Cu*, Cr3*
Ans. (1)
Sel. lon No. of unpaired e~
Cue® 1 T
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4. Identify the correct set which is paramagnetic and coloured =
(1) Cu?*, Sct, Cr>* (2) Mn7*, Cr3* Hg?*
(3) Cu* , Sc>* , Co* (4) Mn?*, Cu*, Cr3

Ans. (1)

Seol. lon No. of unpaired e-
Cu?* 1
oct 2
Cr¥* 3

This set is "paramagnetic & coloured”

3. |dentify the correct statement regarding diborane (BzHa)
(1) Hybridisation of boron is sp? (2) It contain one 3 center- 2 electron bond
(3) Itis planer molecule (4) NaBHas on oxidation with |2 give B2He
Ans. (4)

Sol. 2NaBHs+lo — ™ . BoHe + 2Nal + Ha 1

3C - 2e bond

3C - 2e’bond

6. Ke for the reaction N20a(g) ==—== 2NO2(g) at 288 k is 47-9, then value of K¢ is-
[Report your answer to nearest integer]
[Given R = 0.083 bar lit / mole K]

Ans. (2)

Sol. Kp= K (RT)™™

47-9 = K¢ (0-083 x 288)"

Ke =2
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8. Isotopes of hydrogen which emits low energy g~ particle with half life greater than 12 yearis:
(1) Tritium and Deuterim (2) Deuterium
(3*) Tritium (4) Protium

Sol. Only tritium is radioactive and emits low energy B particles (tx, 12.33 years)

9. The concentration of glucose (CeH120s) in blood is 0,72 gramflit, the molarity of glucose is [x] x 10°M
then value of x is
Ans. (4)
Sol. M= Waaiue —
Mwm x len{fnltt}
- O.r%
180
= 0004 =4 x10-3
10. 005 M solution of which compound have lowest freezing point
(1) K2SOs4 (2) KI (3) CeH 1208 (4) Al(SOa)a
Ans. (4)

Sol. AT;=iKm

Greater the 1 value lower will be freezing point

11. N20s dissociate according to 1** order kinetic as (2N20sig) — 4NOxg + Oxg). kinetics initial concentration
of N2Os is 24 x 102 M and concentration of N2Os after 1 hour is 1-68 x 102 M, then the rate constant k
in min-" for this dissociation is [x] x 10-5 min—! then x is.

Ans. 346

Sol. ZN20s(g) — 4NO2(g) + Oz(q)

Initial 24 x10=M
After 1 hour 1-6x10=M

2303 . [(24x102) -
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I
%
&

Sol. ﬂ.T_f:i KII"I"I

Greater the | value lower will be freezing point

11. N20s dissociate according to 1% order kinetic as (2N20sg — 4NO2g + Oxg. kinetics inifial concentration

of N2Os is 24 x 102 M and concentration of N2Os after 1 hour is 1-6 x 102 M, then the rate constant k
in min-" for this dissociation is [x] x 10-® min—?, then x Is.
Ans. 346

Sol. 2N20s(g) — 4NO2(g) + O2(g)
Initial 24 x102M
After 1 hour 1-6x10=M

t= LIn( - )
2k a-x

2303 [2-4xfﬂ-?)
k= log | ——

2x 60 1-6x1072
_ 2303 3

= %80 2 H

= 2303 [048-030]
2x 60

= 0-00346

=346 x 10~ min -
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12. Oxygen is maximum soluble in
(1) Water at 4°C (2) Water at 80°C (3) Polluted water (4) Boiling water
Ans. (1)

Sol.  Solubility of axygen is increase with decrease in temperature.

13. Using the followng cell reaction find cell

U}Cda}——a%ﬁ?ﬁM+2€‘ E°=-034V

(i) Ag*(aq)+ e~ ——Ag E*=080V

0B M

K%mnMg25=ﬂ4yEE£EI=DDE

Report your answer as [Eca x 102
Ans. (448)
Sol.  E°cen= (Egp Je —(Egp )a

=0.80 - 0.34 = 0.46V]

Eout = Elout— S lagion | =046 - =2 lo 052}
2 T[Ag"] 2 (0.45)

Ll log2.5 =046 - o

=046 -

x25

A
“

i

=046 -0012=0448 =448 x 102

14 Match column-l with Column-I
Column-l Column-li
(a) Li (i) soluble in organinc compound
(b) Na (if) outer electronic configuration is b6s?
(c) Ca (i) oxalate is not soluble in agueous solution
fdl Ba {iv) farm strana monabasic compnaund ad
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=0.80 -0.34 = 0.46Y] -
_ G B 05
E ot = Efele gt 2 =046 - 2"l .
- [Ag™] . (0.45)
0.06 0.06

x25

"

.

=046 - Tlﬂgﬂ 5 =046-

=046 -0012=0448 =448 x 10

14 Match column-I with Column-li
Column-l Column-ll
(a) i (i) soluble in organinc compound
(b) Na (it) outer electronic configuration is 652
(c) Ca (in) oxalate is not soluble in agueous solution
(d) Ba (iv) form strong monobasic compound
(1*) a—1, b=iv, c-in, d—ii (2) a—i, b=ii, c-ill, d=iv
(3) a—iii, b=iv, c-1, d—ii (4) a—i, b—iv, c-iii, d—ii
Ans. (1)
15. Find the sum of magnetic moment (spin only) of following ion Co*, Zn®*, V**

[Report your answer to nearest integer]
Ans. 5
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16. Which of the following have strong reducing power

(1) PHs (2) BiHs (3) AsHa (4) SbH3
Ans. (2)
Sol. NH3

FHsa

AsH3

SbHs

BiHa

As we move down the group reducing power is increase.

17. When AgNOs solution is added to Ki, the sol produced is
(1) KUNOs- (2*) Agl /Ag* (3) Agl/l- (4) AgNOs/NO3s-

1
Sol. AgNOs +KI — Agl |Ag*
|

18. How much heat is released on (in kJ) of 10 gram graphite
[Given AH combustion (graphite ) = -2 48 kJ/mal]
[Report your answer to nearest intager]

Ans. 2

Sol. C(graphite) + Oz — COz(g) AH =-2 48 kJ mole :—E mole

1
Total heat released = 2 48 x 1—?} =1.90 kJ

[
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19. 10 gram Benzene (GMM = 78) on methylation give 9.2 gram of Toluene (GMM = 92), then percentage

yield of processis:

Ans. 7800
Sol. CgH, —2=xEen C H.CH,
mmﬂe 1!:!“‘!'.']&
78 78
1
{Wﬂunrmcal} = Tg X 92

% yield = ﬂqg__ x 100

Z|: 54 K?B:|?'¢ 100 = 78%
10x82

20. The total number of iIsomers of square planar complex [MFCI(SCN) (NOz)] is

{1} 12 (2) 6 (3)8 (4) 4
Ans. (1)
Sol. SCN/NOa — 3 arrangements

NCS/NO2 — 3 arrangements

SCN/ONOQ — 3 arrangements

NCS/ONO — 3 arrangements

Total number of isomers = 12

21. Consider sulphide ion [S?-ion] as a soft base. Which of the following ion will form sulphide [36 T]

(1) Pb?, Ag? (2) Ag*, Mg> (3) AP, Ag* (4788, Mg=
Ans. (3)
Ph2
PbS{ Black
Sol. /
SE_ +
Ag Ag2Si Black

© Resonance Eduventures Limited | Toll-Free 1800-258-5555 | (0)744 2777777, 2777700 | contact@resonance.ac.in | CIN - U80302RJ2007PLC024029

@ Screenshot (585).pdf ~ Show all X

I - oy TEIAPN
H £ Type here to search %) NG oo O




& Mews Dashboard - CollegeDekh % M Inbox (879) - sakunth.kumar@c: X JEE Main 2021 (July/3rd Attemp: X JEE Main 2021 April {July/3rd &+ X % Download file | iLovePDF b3 | & Selectattachment tochange |0 X | @ 548f4d5b-24ac-415¢-89e9-06d" X | + Q - x

C 8 resonanceacin/answer-key-solutions/JEE-Main/2021/jeemain.aspx?uid=5168917988key=pCGECzoHGt6BftyiKdxB b » G
LiL. 11 UWIE TUiHJdvwi Yy STUYIHILE Ul 1TaLUUlia IUTIHIUWY M Ol D IT3SRTCLUveEly e, MIVIIIALIG,; ALl IVI] B
e
MN2Cl-
CH2—CHa
A B
—_— _—
Q=
(1) HaP O3> CHs—CHz-CI (2) HaPO2 CHa-CH2>—-0H
(3) CHa~CH2-0OH HaPOq (4) CHa~-CH2-Cl HaP Oz
Ans. (1)
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@
N2CF
CH-—CHa

Sol . CHy=CHJCl
. AC, 4

23. A(CsHeO) gives dark green colouration with FeCls. A on reaction with CHClz, KOH gives B. B can also
be prepared from C by PCC. The correct option for A, Band C is :

OH OH OH
@ @/CHHDH @/c OH
(1)
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23. A(CeHeO) gives dark green colouration with FeCls. A on reaction with CHCla, KOH gives B. B can also
be prepared from C by PCC. The correct optionfar A, Band Cis:

OH OH OH
CH—0H COH
(1)
OH OH OH
COCH CH2—OH
(2)
OH OH OH
CHO CH>-0OH
(3)
OH OH OH
CH=—0OH COOH
(4)
Ans. (3)
OH OH OH
CHO CH2—0OH
Sol. {3:} CHCly MKOH ‘ PCC
(A) (B) (C)
24. Which of the following does naot show resonance

(1) 7 N0 (2) /\.)’I\HHE
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25.

Sol.

26.

Ans.

Sol.

27.

Which of the following reacton is not possible

NHz NH2 NHz
(1) @ TR <Q>| )
OsH
O
4
NH2 NH-C-CHs; NH2z
Qe ®

HgS0 , IHNO;

CHy—CHz—Cl|

ACIy 1A

NH2

NOa2

Friedel-craft alkylation is not passible in aniline due to formation of highly deactivated cationic salt.

Match the following .

(a) Chloroprene (p) V\

(b) Isoprene {q}/’\\CEN

(c) Neoprene (N T

(d) Acrylonitrile (s) -ECHz—{'IJZCH—Csz-
Cl n

(1%) (a) = (p), (b) = (r), (c) —= (s} , (d) — (g) (2) (@) = (r), (b) = (s), (c) = (p) , (d) = (q)
(3) (@) = (r), (b) = (p). (c) = (q) , (d) — (s) (4) (a) = (q). (b) = (r), (c) = (p) , (d) = (s)

NCERT

Which of the following does not show stereoisomerism
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28. Total acyclic number of structures including geometrical of pentene is
Ans. 6
Sol. C-C-C-C=C (1)
C-LC-C=C-C ({2
| .
C-C-C=C (1)
C-C-C=C (1)
I
|
C-C=C-C (1)
29. Thiamin & pyridoxine vitamin are respectively :
(1) B1 & Bs (2)B2&E (3)B1 &E (4) E1 & Be

Ans. (1)
Sol. NCERT

30. Which of the following give tertiary alcohol with excess Grignard reagent (CHaMgBr)

0 O
v D—HHCHg
(1) (2)
CH OH
COOH
(3) NC OEt (4) v i
£
C=CH

Ans. (2)
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